EARAROBEEIERT — 2 N— IBISH —F

20185F4H290 (B) 2E1AE4H

mﬁ S5HITFHYIUR C2 ¥5FR4mE (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :220,000” ~ 23#%:66,000” ~ 337%&:22,000 ™  43%&:13,000 M 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.= BEmth :31. -1-1- . — IR (1£8)
11111 JALILKRFA R+ # 6 558-0 1(:2)3 1-1-1-1 40.0 1 (5:)23; e 8
RTANKTy Y2 BFa—TYyii— BRT7— L
3 o AllEsR :31. —4-3- . — BARBRE (EH)
olglg|*T>avthxl 4 aD (11311/26) Saes |28 ° ?_7; Elﬁﬂlﬂ%EF .
RiALaK—5— B:hYAIELT S lshe
. [iim}2 : —~5-5- — KIBEHK (EE)
3l 2 7’1,'71’]' La—~R 'S 56.0 1(73::)7 5o 9.4 2 (4358) j'ﬁ;’@— -
ST INATA—H— Bix¥—-F K77 F Bm
N . H il : —6-6- — ABR®YE (BR)
1 eSS G i 6 2 1.(322).1 6-6-6-7 | 39.6 4 (4_256) it
Riwy)AdyAR B:I->rbhy—d— RAEW IS
RN B o4 | AER—E 1:32.2 2-2-2-2 |40.3| — 5 494 | NIEZAEF (1£R)
58N 3 XF=T)rEX 54.0 (1/2) (47) VAR B 1 B
RN—=Y754 Biky hw2R FERRE AR
S = s = AL Z :32. —8-8- X - HEEHER (1£8)
6 6 6 INY 7 = v 3 '7 as 4 346 1(‘|3/22)3 e 96 ! (4550) %%ﬂ\ -
L —FHITIL BTy HBEEARS
S i ft 5 | HRABK 1:32.6 8-7-7-6 |40.0| — 9 448 | MBE (EH)
7155 /’7)[1:'79'{ 54.16 (11/2) (+6) EA|E]E§ -
LiANRINGR B:T7Ia1-X YA T7—L4
# 7 | MmAER 1:32.8 9-9-9-9 |39.8| — | 8 | 451 |WEE (f£H)
8lglg|TVXT7 A2~ 56.0 " 42 | (B J PN
R:wy)EdyAR B:A-XITILT EET7 7 — L
s . BERZ :33. 34— . — wHEE (B
o 4 =vauTe o4 k] (11 313/21) 4-3-4-8 | 41.0 6 423)7 e "
L:O0- K751~ B:FOEHILANY =X AFO%5
® I—F—@EBIERL
13—4— 1,3,8,4,2,7,6,5,9
Ao=5"= 1,3,4,8,2,7,5,6,9
3T—7— 1,3,8,4,2,7,5,6,9
43—+ — 1,3,8,2,6,5,7,4,9
[ N5
B 1 250 794K 1-8 200 & 1-8 420 &R 1-2-8 540
# B 1 1004 1-2 230 B E 1-8 320 EE 1-8-2 1,880
8 120 2-8 230 B H 1-8 920/
2 120M

ABICOVWTRDTEEERROODE. TR LIV,




